
Opis modela
---------------------------------------------------------------------
Species    : Govedo
Pasma      : BSW HOL SIM
Lastnosti  : Fitnes - iztok mleka
Program    : VCE
---------------------------------------------------------------------
Model:

y142h = fix1 fix2 fix3 herdy id;

y142 = iztok mleka
h    = homogenizirana lastnost po "fix1"

Stalni vplivi:

fix1 = ocenjevalec * leto ocene

fix2 = r1 * r2

  dni1 = dt.ocene - dt.telitve

  dni1 =<  60                ; r1=1
  dni1  >  60 in dni1 =<  90 ; r1=2
  dni1  >  90 in dni1 =< 120 ; r1=3
  dni1  > 120 in dni1 =< 150 ; r1=4
  dni1  > 150                ; r1=5

  dni2 = dt.telitve - dt.rojstva

  dni2 =< 750                ; r2=1
  dni2  > 750 in dni2 =< 810 ; r2=2
  dni2  > 810 in dni2 =< 870 ; r2=3
  dni2  > 870 in dni2 =< 930 ; r2=4
  dni2  > 930                ; r2=5

fix3 = leto telitve * mesec telitve

Slučajni vplivi:

herdy = hlev * leto ocene
id    = žival

---------------------------------------------------------------------
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